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A HAE AW XNHS#Y PE
Sl SRHFA MY U HEFORA 29 CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
—CREFARL BASY
70,000 x5H »23] 700
02 =224l 2,235 2,235 0
O F=A XFete dIIes
7,000 =150« 1204 & 1,260
OzEF4 Nt A Z Z Y|
65,0002 * 1501 A& 975
403 MtXISHHE =01 & 10,879 7,912 2,967
02 3|25 0l CH SHCH 2 At & HI 10,879 7,912 2,967
O=3INF=2FEANL2E(KAIS)2Z X 9,496
—GISAZA S/W RXE= 2,271
—-KAIS 2EX& 7,225
OE2gF=AJNek RIES 1,383
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Al 10,000
- 8,000
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= 14,000
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Al 5,000
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Al 1,500
HESHALH (EX 22l ) 85,070 79,148 5,922
DIR= sl 85,070 79,148 5,922
Jl&l 85,070 79,148 5,922
201 Bt A H| 15,350 14,468 882
01 At 22l bl 15,350 14,468 882
osAMENTY 1,785
— A4 20,000& 638+ A 1,260
- Al 75,900& 38 A 228
- A0 99,000& 3+ A 297
OEUHZY(ZRH) 175,000& 7 JH4 1,225
Obl& &Hl =&bBl® X bl 1,000
EAHASYI 2+ H| 10,000 »21H x12& 2,520
OANZ2AZ 2 XS A 7,000& x54 21 H x12& 8,820
202 04d| 65,520 60,480 5,040
01 2L Y| 65,520 60,480 5,040
OZU o bl 260,000 x21H x12& 65,520
203 ¥ R =&t 4,200 4,200 0
04 BNSYAREAY] 4,200 4,200 0
ORM2YALETY 350,0002 * 128 4,200




